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SECTION - I
ENGLISH

Instructions for Q.01 to Q.03

Read the passage carefully and answer the following questions.

Mani is my favourite cat. Every morning mother gives her some milk. Sometimes she
catches a mouse near the garbage pit. She likes climbing trees and watching the birds.

01.

02.

03.

04.

0s.

06.

What does Mani catch?

(1) A pit (2) A mouse (3) Milk (4) A bird
Find the odd term.

(A) Morning (B) Climbing (C) Watching

(1) ‘B’ correct (2) “C correct

(3) ‘A’ correct 4) ‘A, ‘B’, ‘C’ correct

Find the rhyming word for ‘Free’.

(1) She (2) Give (3) Like (4) Tree
Fill in the blank with the correct alternative.

Malhar caught a big golden fish his net.

(1) in (2) on (3) over (4) upon

Choose the correct comparison for as timid as :
(1) rabbit (2) elephant (3) deer (4) wvulture

Look at the picture and select the correct conversatlon from the given options.

(1) A : Excuse me, uncle. Is this yours?
B : Oh, yes!

(2) A : Thank you so much for this gift.
B : You are welcome.

(3) A : What’s the time?
B : It’s two O’clock.

(4) A : Can you please help me.
B : Sure.

SPACE FOR ROUGH WORK
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07.

08.

09.

10.

11.

12.

Ladder : |:A|:A_A|_|_A_A—_| : ¢ English : ?

3) _I_I_I_r‘ 4)

L]

Find the smaller hidden word which indicates ‘Head of the unit’ from the
word - Handkerchief.
(1) Chick (2) Chief (3) Hand (4) And

Complete the word register.

Violin, Tabla, , .

(1) Erraser, Sponge (2) Scene, Museum
(3) Tambourine, Cymbals (4) Mixer, Sieve

Identify the game and select the correct option.

Hop-scotch

Hide and seek

Marbles

Skipping-rope

Choose the correctly spelt word.

(1) Compitition  (2) Competition (3) Compitision (4) Competision

Identify the underlined punctuation mark in the given sentence.
Ah! At last I will have some rice.

(1) Apostrophe (2) Comma

(3) Question mark (4) Exclamation mark

SPACE FOR ROUGH WORK
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13.  Select the proper option to complete the motto.

is wealth.
(1) Money (2) Health (3) Currency (4) Growth
14.  Fill in the blank with correct option.
This advertisement gives offer for festival.
Eid
Pune
Diwali
Christmas
15. Select the correct alternative.
work quickly.
(1) Lets’ (2) let’s (3) Let’s (4) ‘Lets
16. Find the odd man out.
(1) Shiny star (2) Tall tree (3) Clever house (4) OIld man
17. Which of the following is a request? Choose the correct option.
(1) May I come in? (2) T don’t know.
(3) What are you doing? (4) Please wait for me.

18. Look at the chart and find the correct option.

Halnd
I I I |
Palm Elbow Fingers ?
(1) Beak (2) Tusk
(3) Stomach (4) Wrist
19.  Select the correct option.
February is the month of the year.
(1) second 2) 2 3) I (4) two

SPACE FOR ROUGH WORK
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20.

21.

22.

23.

24.

25.

This clock shows the time

(1) quarter to four
(2) quarter past four
(3) quarter to three
(4) quarter past three

What will you write in the following timeline?

Present Past Future
J J J
Find ? Will find
(1) Will find (2) Found (3) Finds (4) Was finding

At the time of examination, what will you say to your friend? Choose the
proper greeting.
(1) All the best. (2) All in one. (3) All is set. (4) All sit down.

Select the correct option.
Sunday comes after :
(1) Monday (2) Thursday (3) Saturday (4) Tuesday

Choose the correct alternative for the given sentence.
gaurav was the captain of ‘a’ division’s team.

(1) Capital ‘G’ for gaurav

(2) Capital ‘A’ for ‘a’ division

(3) Capital ‘C’ for captain

(4) Capital ‘G’ for gaurav and capital ‘A’ for ‘a’ division.

Count the number of question marks in the following conversation.

A : Hello, Ira speaking. Will you come to play with me?

B : Which game?

A : Off course! Basketball.

B : When?

A At 5 pm.

(1 2 2) 4 3) 0 4 3

SPACE FOR ROUGH WORK
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SECTION - II

INTELLIGENCE TEST

26. How many two letter words are more or less than the four letter words in the
given sentence?

“Raju helped Ram while he was climbing Shivneri Fort.”
(1) More by 1 (2) Less by 1
(3) More by 2 (4) Less by 2

27. In the given alphabet series which letters have occured same number of times?
KPGGPKGHTPDKGPTDP
() PG 2) KT
3 TD 4) DP

28. In the given number series how many times does ‘3’ occur before ‘5’ but ‘4’
does not occur after ‘5°?

(835245353465435356435354357)

(1) 7 times (2) 8 times
(3) 6 times (4) 9 times

Q.29 to Q.33 Direction:

Select the odd term

29. (1) to see - to look (2) dirty - dusty
(3) hand - fore arm (4) poor - weak

SPACE FOR ROUGH WORK
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30. A c
(1) [N/ P @ [RAN/R
C B B A
R P
A B
3) L2N/F @ [PNR
B C A C
R Q
J () CDO
(1) 2) (3) (4)
32. (1) 4 2) 17 (3) 7 4 12
33. (1) 111 (2) 482 (3) 231 4) 362

Q.34 and Q.35 Direction:

Consider the pattern in the given number series and select the correct option
to replace the question mark.

34. 53, 61, 68, 82, 2, 103
(1) 92 2) 91 (3) 89 4) 95

35. 2,4,7,12, 19, 30, ?, 60
(1) 47 (2) 43 3) 49 (4) 45

36. In the given series of symbols select the correct group from the options to
replace the question mark.

<H X -, F X < X -<+4+,-<+x 7

9 9 b

(1) <x+- (2) x - <+ (3) <+ x — 4) >+ x -

SPACE FOR ROUGH WORK
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C A 30.
R Q Q P
2
B A 2) C B 1
P R
B R A
P P
(4) Q 3)
A C B C
Q R
o> o () [ s
4) (3) (2) (1)
12 (4) 7 (3) 17 () 4 (1) 32
362 (4) 231 (3) 482 (2) 11 (1) 33
tecy £ L 35 00 344 1
_EE s TE St n Z o ot S S Sk
53, 61, 68, 82, 2, 103 34.
95 (4) 89 (3) 91 (2) 92 (1)
2,4,7,12, 19,30, 7,60 35.
45 (4) 49 (3) 43 (2) 47 (1)
_éﬁcJﬁd)l}u/@bé_%(}/&w%'ru:&’fwéd5 36.
<+ X -+ X< X<+, <+ x ?
Sex- (@) <+x- (3) o<+ @) <xt- (D)
Ll L6
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37.  Select the correct figure from the options to replace the question mark.
Question Figures

o +
+ A A' ‘)

A ° -+ [ ]
4 A .

Answer Figures

+ v A + A A
(1) (2) (3) (4)

38.  Select the wrong term in the given number series.
1

3
326 11 > 17 > 27 > 38
2 @ % 3 i @ 2
39. In the adjacent figure how many triangles are there?
1 8
2) 10

(3) 11
4 5

40. In the following question various faces of a cube are shown. Study them and
find the number which is on the face opposite to 5.

4 2 1 6

(1 2 2) 6 3 1 4 4

SPACE FOR ROUGH WORK
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41. If Horse is called Camel, Camel is called as Zebra, Zebra is called as Donkey,
then which animal is called as ‘Ship of Desert’.

(1) Horse (2) Camel
(3) Donkey (4) Zebra

42.  Ajay is taller than Ramesh but shorter than Sadu. Sameedha is taller than Ajay
but not as tall as Sadu. Who is the tallest?

(1) Sadu (2) Sameedha
(3) Ajay (4) Ramesh

43.  Five years ago John and Ahmed’s age was % and % times respectively of

Sharad’s age at that time. If John’s age was 8 yrs at that time then what is
the addition of ages of all three, two years later?

(1) 38 yrs (2) 53 yrs
3) 59 yrs (4) 40 yrs

44. There are two married sons and three grand children in Radha’s family. Find
minimum number of members in Radha’s family.

(1) 12 ) 11
(3) 10 4 9

Q.45 to Q.49 Direction:

In the given questions first term has a specific relation with the second term.
The same relation exists between third and fourth term. Identify the relation
and select the correct option to replace the question mark.

45. Maharashtra : Governor : : India : ?
(1) Prime Minister (2) President
(3) Chief Minister (4) Vice-President

SPACE FOR ROUGH WORK
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46.

]
N

d ~ ~ b
b == == d
(1) @) (3) )

@ ::@:?
GRORNR)

o

B

) 2) 3) 4)
48. 13 :169 :: 15 :7?
(A) 225 (B) 175 (C) 195
(1) Only ‘A’ is correct (2) Only ‘C’ is correct
(3) ‘A’ and ‘B’ both are correct (4) ‘A’ and ‘C’ both are correct

SPACE FOR ROUGH WORK
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K LMNO

PQRST

UV WXY

> <

46.

d — o b
b VAR VAR d
(1) (2) (3) (4)
47.
.@ | 7))
(1) (2) (3) 4)
13 : 169 15 : 2 48
(A) 225 B) 175 (C) 195
PGSV PN
_ugg ‘Cal A (4) -ugif ‘B s ‘AT (3)
Ll L6
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49, 27 : 14 :: 18 : ?

(1) 13 2) 12
(3) 15 4) 17

50. In the adjoining figure, if one walks from ‘House’ (A) to ‘School’ (B) in the
direction of the arrows, how many times has he to turn to his left?

B School
A % (I) 6 times
House )
(2) 5 times

(3) 11 times

(4) 7 times

51.  Rahul says, “There are 6 boys standing in front of me in a row and Amit is
at the third position behind me.” Amit says, “l am standing next to the boy
who is exactly at the middle place in the row.” How many boys are standing

in the row?
(1) 18 () 19
3) 21 4) 23

52. In a certain year if Independence day occurs on Tuesday then in the same
year which day would be the last day of the year?

(1) Sunday (2) Monday

(3) Tuesday (4) Wednesday

SPACE FOR ROUGH WORK
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53. The adjacent figure shows the number of players playing different games.
Observe the figure and find how many players play at least two games?

Hockey ——

«—— Kabaddi

N

(1 3
2) 3
) 2
“4) 47

— O

54.  Select the correct option to describe the given venn diagram.

(1) Male, Female, Doctors
(2) Numbers, Even numbers, Odd numbers
(3) Trees, Mango, Jackfruit
(4) Country, State, District

55. In the given square pattern, select the correct option to replace the question

mark.
11 | 67 | 17 (1) 73
(2) 6l
41 ? 47
(3) 59
23 31 5 4) 53

SPACE FOR ROUGH WORK
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Q.56 to Q.60 Direction :

A set of terms is given at the beginning of the question. These terms have
some common characteristic. Find out the term from the alternatives that matches

the given set of terms.

56.  Step mother, Snow white, Spring time, ?
(1) Distrust (2) Foot print

(3) Black white (4) Day night

57. Hard, Challenging, Testing, ?
(1) Easy (2) Joyful

(3) Effortless (4) Difficult

58. 25, 123, 62, 6, ?
(1) 341 2) 216

3) 511 4) 218

59. 297, 135, 501, 189, ?
(I) 503 (2) 355

(3) 243 4) 781

SPACE FOR ROUGH WORK
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VS ERYTNY Gl SIS SOt L S ST, E a0 T A1 0.2 I
_EE Je e B LSS b e

7 ‘u“i.r,, Ji5 56
S @ &)
G ) 4 (3)

$F wpi G ST,
L (2) £ (1)
S @ e (3)

25, 123, 62, 6,? 58.
216 (2) 341 (1)

218 (4) 511 (3)

297, 135, 501, 189, 7 59.

355 (2) 503 (1)
781 (4) 243 (3)
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60. Question Figures

(OYNT/\

Answer Figures

3) 4)

Q.61 and Q.62 Direction:
Select the mirror image of the given question figure from the options.

61. Question Figure Answer Figures
759 Sa7 | |ARS| |Say | |SSY
(1) (2) 3) (4)
62. Question Figure Answer Figures

4 & 7

SPACE FOR ROUGH WORK
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Q.63 and Q.64 Direction:

Select the water image of the given question figure from the options.

63.  Question Figure Answer Figures
(1) 2) 3) 4
64. Question Figure Answer Figures

MNZ NN INNX] [ZUM| [ SUM

(1) ) 3) (4)

65.  Identify the pattern and select the correct option to replace the question mark.

(1) 25 2) 6 3) 7 ) 17

SPACE FOR ROUGH WORK
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S
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IR e bl S Tl e SUE It Sl S S5t 65.

Wil 63.
(1) 2) 3) 4)
Wi 64.
NNX| [NNX] ZUM| |SUM
(1) (2) (3) 4)

17 (4)

7 (3)

6 (2)

25 (1)
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Q.66 and Q.67 Direction :

Word BUT TAP BAT
Code A @ OV A x| A 5 @

In a certain code language, symbols are used for different letters. The sequence
of the letters and of the symbols may not necessarily be the same. Observe
the code in the above frame and answer the questions.

66. Which symbol is represented by ‘U’?

() A 2 ® 3) o (4) =

67. How is ‘TOP’ written in the given code language?

(1) A@®@V 2 veo B) LAV @ AQY

Q.68 and Q.69 Direction:

Select the identical figure to the question figure from the options.

A
68. Question Figure QCJ;\L)P

Answer Figures
A

A

M % o [ |5e?
A A

@) 2@3 @ [ |5e

SPACE FOR ROUGH WORK
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tecs L 67 = 66,41

37 BUT TAP BAT
S | A @ OV A &|lA & @

It 20t e\ U U Sl s 2 e S P ULl 2l
-égjlﬁ“au:caﬂjyzc«glﬁé 67 /:‘Ulyy,l 66/7‘;

W Tt £ o7 U

x (4) 0 3) ® (2) A (1)
L2 A TOP UL UEILE.
ATV (4 AV (3) vero (2 A @V (1)

66.

67.

Ll £ 69 11 684

_éflﬁ“cJ@U}Qfﬁdbi%ﬂcfi}k{d)

e
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70. In a certain code language. If CAT = WYE, MEN = MUL and DOG = VKS
then how will you write the word which is opposite gender of ‘OX’?

(1) KB (2) WOC
(3) WKC (4) RBK

1.
7 ( ABCDE FGHIJ KLMNO PQRST UVWXY )

In the given alphabet series which letter is at the sixth position on the right
hand of the letter which is at fourth place to the left of the letter which is
nineth from the right hand side of the series?

() R 2 S
3 G 4 T

SPACE FOR ROUGH WORK
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LS DOG = VKS 1 MEN = MUL «CAT = WYE U~ b QLG

L oIl ox
WOC (2) KB (1)
RBK (4) WKC (3)

( ABCDE FGHIJ KLMNO PQRST UVWXY )
(U 6) 632 0L 78 28 SANE G2 9 e b Ut dd 3ot
S Lyl

S (2) R (1)

T (4) G ()
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72.

Letters C M D K L \%Y N R P
Numbers 7 8 5 4 2 9 6 0 3

Observe the given table and solve.
D+W=+P-(N+L)=2?

I R 2) P
3) L 4 N

73.  Purva is facing the south-east direction and she turns to her left two times at
right angle and does Shirshasan. (up side down, with head down and legs up)
which direction is pointed by her right hand?

(1) South-west (2) North-east
(3) South-east (4) North-west

74. You see an injured sparrow on your way to school. What will be your
immediate action?

(1) T will loudly call my friends.
(2) T will neglect the baby sparrow.
(3) I will inform the Head-master of my school about the incident.

(4) 1 will serve water from my water bottle and shift the sparrow to a safe
place.

75.  Whose action from the following is the most correct action?
(1) Raju collected all the garbage from the varanda and burnt it.
(2) Sameer threw the wet garbage in the dustbin.
(3) Sameedha collected all the garbage from her house in a bag.

(4) Suresh converted wet garbage into manure.

SPACE FOR ROUGH WORK
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